Name __Answer Key_______________________________ Date _____

Adv. Study Guide- Unit 6 – Volume and Capacity

1. What is the surface area of this rectangular prism? _____94 u2_______
Answer in correct units.  





2 (3x4) + 2 (3x5) + 2 (5x4) = 94 square units




2. Catherine has a prism with the dimensions of 6 cm long, 5 cm wide and 4 cm tall. Draw it. Label each side. Call this drawing “Box A”. Volume = 120 cm3




Box A
                            6 x 5 x 4 = 120 cm3[image: image3.png]



3. Brett has a prism with the dimensions of 5 cm long, 5 cm wide and 5 cm tall. Draw it. Label each side. Call this drawing “Box B”. Volume =125 cm3
Box B
[image: image1.jpg]



 5 x 5 x 5 = 125 cm3
4. Which prism has a larger volume, Box A or Box B?  Box B
5. Catherine’s box has the shape of a rectangular prism.

6. Brett’s box has the shape of a cube.

7. Below is a mold for Jello. What is the volume of this mold? 72 in3
Width = 6 inches

Height = 4 inches

Depth = 3 inches

8. Surface area = 108 in2
2 (6x4) + 2 (6x3) + 2(4x3) = 48 + 36 + 24 = 108 in2
9. Mike the milkman delivers creamy fresh milk to many Creek View families. Mike uses gallon jugs, quart bottles, pint bottles, and 8-fluid ounce cartons.

The Webb family wants 4 ½ gallons of milk delivered in time for the St. Patrick’s Day holiday. Alex has insisted on getting her milk delivered in at least one of every size container available.

A. Use the following table to show two different ways Mike could deliver 4 ½ gallons of milk to the Webb family that would use each of the four available containers. Each way must add up to be exactly 4 ½ gallons.

	
	Gallon
	Quart
	Pint
	8-fluid oz.
	Equals

	1st way
	1
	6
	8
	16
	4 ½ gallons

	2nd way
	1
	4
	12
	16
	4 ½ gallons


10. Kelly stopped by Publix to buy soda. She bought a 1-L bottle of cola, a 3-L bottle of lemon-lime, and a six-pack containing 177 mL of root beer soda. How many milliliters of soda did Kelly purchase?


  Kelly purchased 4,177 mL of soda.

4 L = 4,000 mL + 177 mL
11. Complete the table.

2 L = 2,000 mL
          6 pints = 3/4 gal.   

32 cups = 2 gal.

16 cups = 4 qts.           421 mL = .421 L       
4.5 gal. = 18 qts.

12. What is the volume of this prism? 288 cubic inches




13. Jack has a lunch box, pencil, and paper cup in his desk. Which item has volume but not capacity? pencil
14. Grant has a box that measures 6 x 3 x 2. What is the surface area? 



2 (6x3) + 2 (6x2) + 2 (3x2) = 36 + 24 + 12 = 72 u2
15. A box has a volume of 144 cubic centimeters, a length of 6 centimeters, and a width of 3 centimeters. What is the height of the box? H = 8 cm

V = 144


L = 6

144 = 6 x 3 x ?


W = 3

144 = 18x

x = 8


H = ?

